ODD ONE OUT: Coastal Erosion
	1.  Hydraulic action
	2.   Cave
	3.   Wave

	4.  Headland
	5.   Solution
	6.   Corrasion

	7.  Wave cut platform
	8.   Wave cut notch
	9.   Erosion

	10. Cliff
	11.  Arch
	12.  Stack

	13. Attrition
	
	


The numbers below refer to the items in the table. This is what you have to do.

1. Guess the odd one out in each set.

2. Add in a fourth number from the table to match the other two. 

3. Write in what the link is between the three numbers.
	
	1
	13
	10
	

	What’s the link?


	
	
	
	

	
	4
	11
	6
	

	What’s the link?


	
	
	
	

	
	7
	2
	9
	

	What’s the link?
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